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1.
Using the sociological imagination,

a. 
social problems are caused by bad people.

b. 
social problems are a matter of personal choice. 

c.
the social problems we face are the same over time.

d.
society shapes our lives.

2. 
According to the social constructionist approach,

a.
social problems are primarily matters of objective facts.

b.
a social issue becomes a social problem only when public officials agree.

c.
social problems arise as people define conditions as undesirable and needing change.

d.
all people see social problems similarly.

3.
The order of the stages in social movements is

a.
emergence, coalescence, formalization, decline.

b.
claims-making, formalization, coalescence, conclusion.

c.
emergence, formalization, agitation, coalescence.

d.
creation, recognition, formalization, decline.

4.
Social problems result from the ways in which society operates; therefore,
a.
most problems will never be solved.


b.
officials can solve all problems.


c.
solutions require changes to society.

d.
severity must be objectively assessed.

5.
Sports leave thousands of college athletes with little time for their studies.  This is an example of a(n) 


a. 
eufunction.


b.
dysfunction.


c.
manifest function.

d.
latent function.


6.
Which approach dominates the sociological study of social problems today?


a.
social conflict


b.
structural functional

c.
symbolic interaction


d. 
social disorganization

7.
The distinction between a “social drinker” and a “problem drinker” often depends on which audience is watching (parents or friends). This observation best fits with which theoretical approach?


a.
structural functional

b.
social conflict


c.
social disorganization


d.
symbolic interaction

8.
Whether you use a questionnaire or interview format, the key to a successful survey is

a.
using statistical analysis to derive conclusions.

b.
selecting a sample of people that represents the larger population.

c.
being able to join people in their everyday activities.

d.
tightly controlling the research conditions in order to investigate a cause-and-effect relationship.

9. 
Which of the following statements about statistics is correct?


a. 
Statistics are the best type of truth.

b.
Numbers don’t lie.

c.
Numbers must be interpreted.

d.
Without data, there is no truth.
10.
People with which political attitudes tend to see problems in the organization of society itself?

a.
conservative

b.
far right

c.
left-of-center

d.
right-of-center

CHAPTER 1

Quiz Answers
1.d; 2.c; 3.a; 4.c; 5.b; 6.a; 7.d; 8.b; 9.c; 10.c
Multiple Choice Questions
1.
What term refers to a point of view that highlights how society affects the experiences and choices of individuals?
a.
social patterns
b.
sociological imagination

c.
comparative perspective
d.
social problems approach

Answer: b; page 2; easy; conceptual

2.
Which of the following concepts refers to people who live within some territory and share many patterns of behavior?
a.
sociology

b.
culture

c.
society

d.
nation
Answer: c; page 2; easy; factual

3.
Which of the following concepts refers to a way of life including values, beliefs, and behavior?
a.
culture

b.
society

c.
social structure

d.
normative expectations

Answer: a; page 2; easy; factual

4.
We tend to assume people are responsible for their own troubles because our way of life emphasizes
a.
greed.
b.
individualism.
c.
tradition.
d.
diversity.
Answer: b; page 2; moderate; factual

5.
Thinking sociologically, unemployment is
a.
the result of bad choices by individuals.
b.
inevitable.

c.
a personal problem.
d.
a social issue.

Answer: d; page 2; moderate; applied

6.
Sociology’s key insight is that the troubles many people face are rooted in
a.
their personal issues.

b.
the operation of society.

c.
human pathologies.

d.
the choices they make.

Answer: b; page 2; easy; conceptual

7.
Although the sociological perspective gives us power to change society, it

a.
also discourages any concern for others.
b.
rarely does result in change in people’s lives.
c.
can also lead to the disturbing conclusion that people suffer through no fault of their own.

d.
produces inevitable conflict.

Answer: c; page 2; moderate; conceptual

8.
A social problem is defined as a condition that
a.
harms everyone in a society.
b.
harms only the poorest people in a society.
c.
harms only the most powerful people in a society.
d.
harms some or all members of a society and is controversial.
Answer: d; page 3; easy; conceptual

9.
In 2008, a survey asked people what they considered to be serious social problems. All but one of the following were on the list of serious problems. Which one was not on the list?
a.
the economy
b.
unemployment
c.
the War in Iraq
d.
global warming
Answer: d; pages 3-4; difficult; factual
10.
According to C. Wright Mills, sociology 
a.
makes us think we can never change our lives.

b.
states that problems result from poor choices.
c.
turns personal troubles into social issues.

d.
rarely generates controversy.
Answer: c; page 3; moderate; conceptual

11.
Using the sociological perspective, C. Wright Mills suggested that we transform our “personal troubles” into

a.
social issues.

b.
psychological concerns.

c.
economic issues.

d.
political concerns.

Answer: a; page 3; easy; conceptual

12.
The social constructionist approach asserts that 
a.
society keeps facing the same problems year after year.
b.
social problems are those issues that are the most harmful to any population.

c.
problems arise as people define issues as undesirable and in need of change.

d.
the government decides what the serious problems are.
Answer: c; page 4; easy; factual

13.
An example of a pattern that is very harmful but not generally defined as a social problem is
a.
terrorism, which includes events that resulted in thousands of deaths.
b.
school shootings that have resulted in several dozen deaths.

c.
the use of automobiles that results in some 40,000 deaths each year.

d. homicide, which involves 17,000 deaths each year.
Answer: c; page 4; moderate; conceptual

14.
Issues are defined as social problems if 

a.
they are defined as undesirable and in need of change.
b.
they have been problems in the past.

c.
they harm the largest number of people.
d.
they are not controversial at all.
Answer: a; page 4; moderate; conceptual

15.
An example of an issue coming to be defined as a social problem over time is
a.
people dying from bee stings.
b.
the use of cell phones while driving.

c.
driving while intoxicated.

d.
our nation’s death rate from homicide.

Answer: b; page 4; moderate; applied

16.
Although gender inequality is less today than it was a century ago, we are more likely to view general inequality as a social problem today than people were back then. This pattern reflects the fact that
a.
what we subjectively perceive always reflects what is objectively true.
b.
we now expect men and women to be socially unequal.
c.
we now expect men and women to be socially equal.
d.
people simply don’t agree on what important social problems are.
Answer: c; page 5; difficult; conceptual

17.
The process of convincing the public and important public officials that a particular issue should be defined as a social problem is called
a.
subjective assessment.
b.
claims making.
c.
objective assessment.
d.
factual analysis.
Answer: b; page 5; moderate; conceptual

18.
The correct way to describe social problems is that they 
a.
are only a matter of objective facts.

b.
are issues that involve the greatest public harm.

c.
involve both objective facts and subjective assessment.

d.
are almost always economic issues.

 Answer: c; page 5; moderate; conceptual

19.
Claims and counterclaims about what should and should not be defined as a social problem is a good description of
a.
politics.
b.
societal consensus.  

c.
coalescence.
d.
law.
Answer: a; page 6; moderate; conceptual

20.
An organized effort to encourage or discourage social change is called a
a.
social movement.
b.
sociological imagination.
c.
social-constructionist approach.
d.
subculture.
Answer: a; page 6; easy; factual

21.
Which of the following statements correctly expresses the sociological view of social problems?
a.
Social problems are caused by bad choices by individuals.
b.
Social problems are caused by bad people.
c.
Social problems result from the ways in which society operates.

d.
Social problems are matters about which everyone in a society agrees.
Answer: c; page 7; moderate; conceptual

22.
In which stage of a social movement do people come together to share their concerns and make claims about the need for change?
a.
coalescence

b.
formalization

c.
decline

d.
emergence

Answer: d; page 6; moderate; factual

23.
In which stage of a social movement does the new organization begin rallies, demonstrations, and political lobbying?
a.
coalescence

b.
formalization

c.
decline

d.
emergence

Answer: a; page 6; moderate; factual

24.
Which stage of a social movement takes place as it becomes established and likely to use efforts of trained and paid staff?
a.
emergence

b.
coalescence

c.
formalization

d.
decline

Answer: c; page 6; moderate; factual

25.
If social movements run out of money, suffer from poor leadership, or are repressed by the opposition, they may 
a.
emerge
b.
formalize

c.
coalesce

d.
decline

Answer: d; page 6; moderate; factual

26.
Only one of the following statements is NOT correct. Which one is it?
a.
Social problems result from the way society operates.

b.
Everyone sees social problems in the same way.
c.
Definitions of social problems change over time.
d.
Definitions of social problems involve both subjective values and objective facts.
Answer: b; page 7; easy; conceptual

27.
Sociologists contend that 

a.
many—but not all—social problems will ever be solved.
b.
almost no social problems will ever be solved.
c.
almost all social problems will be solved.
d.
only truly harmful social problems are ever solved.

Answer: a; page 8; easy, conceptual

28.
Because social problems result from the ways in which society operates,  

a.
these problems cannot ever be solved.
b.
people must solve issues on their own.
c.
solving them requires change to society itself.
d.
all social problems can easily be solved.
Answer: c; page 7; difficult; conceptual

29.
According to the text,

a.
people see problems in exactly the same way.

b.
identifying problems involves values as well as facts.

c.
definitions of problems stay the same over time.

d.
a, b, and c are all correct.
Answer: b; page 8; moderate; conceptual

30.
Because many social problems are related,
a.
no social problem can be solved.
b.
every social problem can be solved.

c.
solving one social problem may create a new problem.
d.
solving one social problem will solve all social problems.
Answer: c; page 8; moderate; conceptual

31.
Which of the following is the cause of about 40,000 deaths in the United States each year?
a.
school shootings
b.
poverty
c.
automobile accidents
d.
flu virus
Answer: c; page 8; easy; factual
32.
Adopting a global perspective shows us which of the following patterns?
a.
Women in poor nations typically have fewer children than women in the United States.
b.
People in poor nations have as much schooling as people in the United States.
c.
Most problems we see in the United States are the same in other countries.
d.
Poverty is more serious in much of the world than it is in the United States.
Answer: d; page 9; moderate; conceptual

33.
Which of the following statements about the world as a whole is correct?
a.
Only about five percent of the world’s people have a college degree.
b.
Only about five percent of the world’s people are illiterate.
c.
Only about five percent of the world’s people are desperately poor.
d.
Only about five percent of the world’s people live in cities.
Answer: a; page 9; easy; factual

34.
Sociologists use which of the following concepts to refer to a statement of how and why specific facts are related?
a.
model
b.
correlation

c.
theory

d.
societal subsystem
Answer: c; page 9; easy; conceptual

35.
Which of the following concepts refers to a basic image of society that guides theory and research?
a.
hypothesis
b.
theoretical approach

c.
correlation
d.
societal subsystem
Answer: b; page 9; easy; conceptual

36.
Which theoretical approach sees society as a system of many interrelated parts that operate together?
a.
structural functional approach
b.
social institutional approach
c.
social conflict approach
d.
symbolic interaction approach
Answer: a; page 9; easy; conceptual

37.
Major spheres of social life, or societal subsystems, that are organized to meet a basic human need are referred to as

a.
theoretical paradigms.

b.
functional prerequisites.

c.
social institutions.

d.
subcultures.

Answer: c; page 9; moderate; conceptual

38.
Which of the following theories is correctly described as a “medical model” that views social problems as diseases that disrupt the normal operation of society?
a.
social disorganization theory
b.
social pathology theory
c.
social conflict theory
d.
symbolic interaction theory
Answer: b; page 11; easy; conceptual

39.
Which early English sociologist, who was also an architect, made the statement that poverty and related problems were created by people who lacked ability and personal discipline?

a.
Herbert Spencer

b.
Emile Durkheim

c.
Max Weber

d.
Karl Marx

Answer: a; page 10; moderate; factual

40.
Which early sociologist was influenced by the thinking of biologist Charles Darwin?
a.
Karl Marx
b.
Emile Durkheim
c.
Herbert Spencer
d. Talcott Parsons
Answer: c; page 11; easy; factual

41.
Which theory is based on the idea that problems arise when rapid change overwhelms society’s institutions?
a.
social conflict theory
b.
social disorganization theory
c.
symbolic interaction theory
d.
social Darwinist theory
Answer: b; page 11; moderate; conceptual

42.
By about 1950, the structural functionalist approach was engaging in
a.
political activism.

b.
the study of inequality and conflict.

c.
the study of gender.

d.
the scientific analysis of society.

Answer: d; page 11; moderate; conceptual

43.
Which of the following concepts refers to the consequences of a social pattern that are intended and widely recognized?
a.
manifest functions

b.
latent functions

c.
dysfunctions

d.
eufunctions
Answer: a; page 11; easy; conceptual

44.
Which of the following concepts refers to the consequences of social patterns that are unintended and less well known?
a.
manifest functions

b.
latent functions

c.
dysfunctions

d.
eufunctions
Answer: b; page 11; easy; conceptual

45.
Which of the following concepts refers to the negative consequences of social patterns?
a.
manifest functions

b.
latent functions

c.
dysfunctions

d.
eufunctions
Answer: c; page 11; easy; conceptual

46.
Which of the following is a theoretical approach that focuses on how society is divided by inequality and conflict?
a.
the structural functional approach

b.
the social conflict approach

c.
the social disorganization approach
d.
the social Darwinist approach

Answer: b; page 11; easy; factual

47.
Class-conflict theory is an explanation of social problems guided by the thinking of
a.
Herbert Spencer.

b.
the Chicago School.
c.
Emile Durkheim.
d.
Karl Marx.
Answer: d; page 11; moderate; factual
48.
According to a Marxist approach, social problems such as poverty result from
a.
an evil human nature.
b.
advanced technology.
c.
the operation of a capitalist economy.
d.
the high rate of immigration. 

Answer: c; page 11; moderate; conceptual

49.
Marx predicted that capitalism would
a.
steadily raise living standards for everyone.
b.
bring about its own destruction.
c.
become less and less productive.
d.
meet all human needs.
Answer: b; page 11; easy; conceptual

50.
Karl Marx devoted his life to analyzing

a.
capitalism.

b.
the expansion of the welfare system.

c.
human nature.

d.
gender differences.
Answer: a; page 11; easy; factual

51.
Karl Marx referred to industrial workers as 

a.
the bourgeoisie.

b.
proletarians.

c.
the communists.

d.
middle-class.

Answer: b; page 11; easy; factual

52.
Which of the following theories explains social problems in terms of racial and ethnic inequality?
a.
social disorganization theory
b.
class conflict theory
c.
multicultural theory
d.
feminist theory
Answer: c; page 12; easy; conceptual

53.
Which political movement seeks social equality for women and men?
a.
feminism

b.
multiculturalism
c.
social pathology theory
d.
social disorganization theory
Answer: a; page 12; easy; factual

54.
Which general approach now dominates the sociological study of social problems?
a.
the structural functional approach
b.
the social conflict approach
c.
the symbolic interaction approach
d.
the social-Darwinist approach
Answer: b; page 12; moderate; conceptual

55.
The social conflict approach may be described as
a.
focused on meanings.
b.
unconcerned with social change.

c.
scientific.
d.
activist.
Answer: d; page 12; moderate; conceptual

56.
Which of the following theoretical approaches sees society as the product of individuals interacting with one another?
a.
social Darwinist approach
b.
structural-functional approach
c.
symbolic interaction approach
d.
social-conflict approach
Answer: c; page 13; easy; conceptual

57.
Which theory claims that people pick up troublesome attitudes and behaviors from those around them?
a.
social-conflict theory
b.
learning theory
c.
social-disorganization theory
d.
social Darwinist theory
Answer: b; page 13; easy; conceptual

58.
The statement “reality is often less a matter of what people do than of how people define the behavior” reflects which approach?
a.
social-conflict approach
b.
structural-functional approach
c.
symbolic-interaction approach
d.
social-exchange approach
Answer: c; page 13; moderate; applied

59.
Which of the following theoretical approaches explores how people socially construct reality?
a.
symbolic-interaction approach
b.
social-conflict approach
c.
structural-functional approach
d.
social-disorganization approach
Answer: a; page 13; moderate; conceptual

60.
The difference between a “social drinker” and a “problem drinker” would probably be of greatest interest to someone using which approach?
a.
symbolic-interaction approach
b.
structural-functional approach
c.
social-conflict approach
d.
social-disorganization approach
Answer: d; page 13; moderate; applied
61.
Which of the following theories states that the reality of any particular situation depends on how people define it?
a.
labeling theory
b.
learning theory
c.
class conflict theory
d.
feminist theory
Answer: a; page 13; moderate; conceptual

62.
The symbolic-interaction approach is correctly described as which of the following?
a.
a macro-level approach
b.
a micro-level approach
c.
a global approach
d.
an institutional approach
Answer: b; pages 13-14; moderate; conceptual

63.
Sociologist Lois Benjamin spoke with 100 successful African Americans about racial prejudice using which research method?

a.
interview

b.
field research
c.
secondary analysis

d.
experiment

Answer: a; page 14; moderate; applied

64.
Which research method does a researcher use to ask subjects to respond to items in a questionnaire or an interview?
a.
experiment

b.
survey

c.
field study

d.
secondary analysis
Answer: b; page 14; easy; conceptual
65.
Which technique does a researcher use to present a series of written items to subjects for their response?
a.
experiment

b.
interview

c.
questionnaire

d.
secondary analysis
Answer: c: page 15; easy; factual

66.
Compared to questionnaires, interviews offer the chance to gain greater
a.
depth.


b.
breadth.

c.
representativeness.
d.
impersonality.


Answer: d; page 15; moderate; conceptual

67.
A research focused on a single person, organization, or event is called
a.
an experiment.
b.
a case study.
c.
secondary analysis.
d.
field research.
Answer: b; page 15; easy; factual

68.
Using which of the following methods does a researcher observe people while joining in their everyday activities?
a.
survey

b.
experiment

c.
participant observation

d.
secondary analysis
Answer: c; page 15; moderate; factual

69.
What research method did Elijah Anderson use to study families in some of Philadelphia’s poor African American neighborhoods?

a.
the experiment

b.
the survey

c.
field research

d.
secondary analysis

Answer: c; page 15; moderate; factual

70. Which method has researchers investigate cause-and-effect relationships under highly controlled conditions?
a.
the experiment

b.
the survey

c.
participant observation

d.
secondary analysis
Answer: a; page 16; easy; factual

71.
Philip Zimbardo and his colleagues used which technique to investigate violence in this country’s prisons?
a.
field research

b.
the experiment

c.
the survey

d.
interviews

Answer: b; page 15; moderate; factual

72.
Using data from the U.S. Census Bureau is an example of which of the following research methods?
a.
survey analysis

b.
field research

c.
secondary analysis

d.
experimental research

Answer: c; page 15; easy; factual

73.
The German sociologist Max Weber urged his colleagues to avoid direct political engagement in an attempt to make sociological research

a.
politically correct.

b.
value-free.

c.
more activist.

d.
more meaningful.

Answer: b; page 16; moderate; conceptual

74.
For German sociologist Max Weber, the main goal of sociology was to

a.
discover truth.

b.
engage in political debate.

c.
promote social change.

d.
avoid the illusion of objectivity.
Answer: a; page 16; moderate; conceptual

75.
In evaluating any social policy, it is important to remember that 
a.
there is usually only one way to define “success.”
b.
there is more than one way to measure “success.”

c.
policies have little or nothing to do with politics.
d.
the public generally does not care if programs work or not.
Answer: b; page 19; moderate; factual

76.
A formal strategy that shapes some dimension of social life is called
a.
social policy.

b.
culture.

c.
science.

d.
the political spectrum.

Answer: a; page 18; moderate; conceptual

77.
The continuum representing a range of political attitudes is called
a.
a global perspective.
b.
a research agenda.
c.
the political spectrum.
d.
the social constructionist approach.
Answer: c; page 19; easy; conceptual

78.
Liberal is derived from the Latin word for

a.
“library.”

b.
“literate.”

c.
“radical.”

d.
“free.”

Answer: d; page 19; moderate; factual

79.
For guidance about how to live, conservatives look to
a.
science.

b.
the past.

c.
the here and now.
d.
sociology.
Answer: b; page 19; moderate; conceptual

80.
Radical is derived from the Latin, meaning

a.
“change.”

b.
“breaking down.”

c.
“of the root.”

d.
“follower.”
Answer: c; pages 19-20; moderate; factual

81. National surveys show what percentage of people consider themselves to be liberal to some degree?
a.
16 percent
b.
26 percent
c.
36 percent
d.
46 percent
Answer: b; page 19; moderate; factual
82.
In general, social liberals

a.
think that people should be free to shape their own lifestyles.

b.
think people should follow traditional values.

c.
think there is too much individualism in today’s society.

d.
oppose most “alternative lifestyles.”
Answer: a; page 20; moderate; applied

83.
Which of the following would have the support of social liberals?
a.
the “pro-life” side of the abortion controversy
b.
closing down our country’s borders to immigrants
c.
the death penalty
d.
legal marriage for gay and lesbian people
Answer: d; page 20; moderate; applied

84.
Which of the following would have the support of social conservatives?
a.    the “pro-choice” side of the abortion controversy 

b.
use of the death penalty to punish the most serious crimes 
c.
various “alternative lifestyles”
d.
encouraging immigration across our borders
Answer: b; page 20; moderate; applied

85.
Economic issues are political debates about

a.
how a society should distribute material resources.
b.
how people should live.
c.
morality.
d.
various alternative lifestyles.
Answer: a; page 20; easy; conceptual

86.
In general, economic liberals favor

a.
government having a small role in the economy.

b.
a lower minimum wage.

c.
low taxes.
d.
government policies that will reduce economic inequality.
Answer: d; page 20; moderate; applied

87.
Economic conservatives claim that wage levels should be
a.
the same for everyone.
b.
set by the market.

c.
regulated by the government.

d.
linked to changes in cost of living.
Answer: b; page 20; moderate; applied

88.
People of high social position tend to be

a.
liberal on social issues.

b.
conservative on social issues.

c.
intolerant of lifestyle diversity.

d.
equally distributed at all points on the political spectrum.
Answer: a; page 21; moderate; applied

89.
Political analysts have documented that men are somewhat more likely to vote for Republican candidates, while women favor Democrats.  This difference is referred to as the

a.
“gender gap.”

b.
“pink ceiling.”

c.
“second shift.”

d.
“the Clinton effect.”

Answer: a; page 21; moderate; applied

True-False Questions
90. The sociological imagination shows how society affects the experiences we have and the choices we make.

Answer: True; page 2; conceptual

91. According to C. Wright Mills, the sociological imagination transforms social issues into our personal troubles.
Answer: False; page 3; conceptual

92. The U.S. public identifies exactly the same list of serious problems today as they did back in 1935.

Answer: False; page 4; factual

93. Claims making about what should or should not be defined as a problem is an important element of the social construction of social problems. 
Answer: True; page 5; conceptual

94. An example of an issue that does lead to considerable public harm but is not defined as a problem is our society’s use of automobiles.

Answer: True; page 5; factual

95. Sociologists claim that social problems arise from the poor choices made by individuals.

Answer: False; page 7; factual

96. One person’s “problem” is sometimes another person’s “solution.”

Answer: True; page 7; factual

97. Many social problems are related, so solving one problem may create a new problem.

Answer: True; page 8; factual

98. Social problems never involve more than one nation.

Answer: False; page 8; applied

99. The three most widely used theoretical models in sociology are the structural functional approach, the social conflict approach, and the symbolic interaction approach.
Answer: True; page 9; conceptual
100. Latent functions are both intended and widely recognized.

Answer: False; page 11; conceptual

101. Marxism, multiculturalism, and feminism are all types of social conflict analysis.

Answer: True; pages 11-12; applied

102. Labeling theory is one application of the structural functional approach.

Answer: False; page 13; applied

103. Survey research includes both the use of questionnaires and interviews.

Answer: True; page 14; conceptual

104. Using available data, which is called secondary analysis, researchers may be able to avoid the trouble and expense of collecting data themselves.

Answer: True; page 15; factual

105. Having statistics to back up an argument always means that the argument is true.

Answer: False; pages 16-17; applied

106. There are many ways to evaluate the “success” of any social policy.

Answer: True; pages 17-18; factual

107. Policy is a matter of what works. Politics and cultural values have little to do with it.

Answer: False; page 18; applied

108. The political spectrum includes attitudes on the “left,” in the “middle-of-the-road,” and on the “right.” Answer: True; page 19; conceptual

109. Economic issues include how a society distributes income and wealth.

Answer: True; page 20; applied

110. Men generally support Democratic candidates more than women, who tend to favor Republican candidates.

Answer: False; page 21; factual

Short-Answer Questions
111. What is “claims making”? How does this process operate in the social construction of problems?

Pages 5-6
112. What do sociologists mean when they say that social problems arise not from the actions of bad people, but from the way in which society operates?
Page 7
113. Provide several advantages gained by looking at social problems in a global perspective.

Pages 8-9
114. How do macro-level theoretical analysis and micro-level theoretical analysis differ? Illustrate this using a social issue of your choice.

Pages 9-13
115. Distinguish the following methods of research: surveys, field research, and experiment. Why might a researcher choose one method over another?

Pages 14-15
116. What was Max Weber’s claim about how social researchers should deal with science and politics?
Page 16
117. Point out several difficulties in evaluating the success of any policy or program.
Pages 17-18

118. Explain why the types of policies people favor or oppose reflect their political outlook. Provide an example to illustrate your argument.
Page 18

119. What are the defining qualities of the conservative, liberal, and left-radical political outlook? 

Pages 19-21

120. What is the difference between social issues and economic issues? Provide an example of each type of issue.

Pages 20-21

Essay Questions
121.
What is a social problem? What does it mean to say that social problems are constructed? How do politics guide the process of constructing problems and defining solutions?
Pages 4-5

122.
Present the subjective and the objective aspects of a social problem of your choice. Do the two dimensions always work together so that the subjective seriousness of a problem squares with the object harm it causes? Explain.

Pages 4-5

123.   What is the sociological imagination? Explain the statement by C. Wright Mills that the sociological imagination transforms personal troubles into social issues.

Pages 2-3

124.
What are sociology’s three major theoretical approaches?  Describe each one. Apply each to a problem of your choice and show the type of insights each approach provides.

Pages 9-14

125.
Review the major research methods employed by sociologists in studying social problems. Why would a researcher choose one method over another?

Pages 14-16
126.
What is “social policy”?  How do political attitudes affect the types of social policies someone might favor as a solution to a social problem? Provide specific examples in your answer.
Pages 17-18
127.  What is the political spectrum? Describe how attitudes fall on the political spectrum. What defines conservative, liberal, and left-radical positions? How do social issues differ from economic issues? Finally, what types of people tend to be on the left and right of each type of issue?

Pages 19-21

128.   In your opinion, what difference in U.S. society resulted from the life work of Dr. Martin Luther King? Do you think his legacy was a “defining moment” for this country? Explain.

Page 22

129.  After carefully reading the “Defining Solutions” photo essay on page 23, explain the differences in the way conservatives and liberals define solutions to economic problems, such as the recession that began in 2008.
Page 23
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